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The value of k, for which the
2x+ky-3=0have no solution,

{a). 0
{c) 6

pair of linear equations x + y—4=
i8

(b) 2

d 8

The value of (tan? 45° — cos? 60°) is

(a) 1/2 (b 1/4

(c) a2 (d) 3/4

A point (x, 1) is equidistant from (0, 0) and (2, 0). The value of x is
(a) 1 (b), 0
(c) 2 d 12

Two coins are tossed together, The probability of getting exactly one head
is

(a) 1/4 b) 1/2
() 374 d 1

A circular arc of length 22 cm subtends an angle 8 at the centre of the
circle of radius 21 ¢m. The value of 8 is

22 em

tﬂ.) Wﬂ- (h‘} T
© 60° (dy 3o0°
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13. Perimeter of a rectangle whose length (I) is 4 cm more than twice its

breadth (b) is 14 cm. The pair of linear equations representing the above

—

information is

I+4=2b

I-b=4

@ 2+by=14 ®) 20+b)=14
1=2b+4 I=2b+4

(c) [+h=14 {d) o(l +b) = 14

14, 5.213 can also be written as
(a), 5.213213213...
{c) B5.213

15.
points (4, 6) and (4, -8) is
(a) 1:2
(c) 4:3

(b) 5.2181318...
(d) 5213/1000

(b) 3:4

(d)

16. Which of the following is not defined ?

{a) secO®
(e) tan 90°

(b)
(d)

343

cosec 80°

cot 90°

The ratio in which the point (4, 0) divides the line segment joining the

17. In the given figure, a circle is touching a semi-circle at C and its diameter

AB at O, If AB = 28 em, what is the radius of the inner cirele 7

A B
B‘_ =
(a) l4cm (b) 28cm
) I
@ Tem,/ @ em
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18. The vertices of a triangle OAB are 0(0, 0), A(4, 0) and B(0, ). The median

AD is drawn on OB. The length AD is

0, 6) 47
(}B

(a) /52 units
(b) B units
(¢) 25 units
(d) 10 units

19. In a right-angled triangle PQR, £Q = 90°. If £P = 45°, then value of tan
P-cos’Ris
() O (b) 1

(e) 12 _ (d) 32

20, Iftan® =§, then the value of zec B is

@ A

{h}ﬁ

3
s
@ —+

i3
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26.

217.

28.

1 1
1+aina+1_gingﬂanhesimpliﬁedtnget .

lr&) 2 C-UHE B {h} %EEEI 8
2
© sin? § (d) 2sec?sd

The origin divides the line segment AB joining the points A(1, -3) and

B(=3, 9) in the ratio
(a) 3:1 b) 1:3
© 2:3. @ 1:1

The perpendicular bisector of a line segment A(-8, 0) and B(8, 0) passes
through a point (0, k). The value of k is

(a) 0only (b) 0or8only

(¢) any real number 4d) any non-zero real number

Which of the following is a correct statement 7
(8) Two congruent figures are always similar.
(b) Two similar figures are always congruent.
(¢) All rectangles are similar.

{d) The polygons having same number of sides are sim: &

?hﬁmluﬁennfthn_pﬁrafunmaqﬂuﬁm:;=_5mdrhﬂh
(a) (=5, 6) X (b) (=5, 0)
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31. A circle of radius 8 units is centered at (0, 0). Which of the following points
lie outside the circle 7
() (1,-1) () (0, 3)
() (1,2 (d (3,1)
32, The value of k for which the pair of linear equations 3x + 5y = 8 and
kx + 16y = 24 has infinitely many solutions, is
(a) 3 (b)y 9
(c) & (d) 15
33. HCF of two consecutive even numbers is
(a) O (b)y 1
e) 2 (d) 4
34. The zeroes of quadratic polynomial 2% + 99x + 127 are
(f} both negative
(b) both positive
{(c) one positive and one negative
(d) reciprocal of each other
85. The mid-point of line segment joining the poirits (<3, 9) and (-6, —4) ia
-3 -13 8 -5
o F%) ® 33
£ 9 5)
430/2/4 P'I_'a' 17

P.T.O.












	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12

